810 (K8a3)

— \ Linearized knot diagam
T T
<///&4\4/ 7 5 6 8 3 1 4 2

l \ 6 Solving Sequence

\/
4,7 8 2,5 1 6 3
A knot diagrarrﬂ cr C4 1 Ceé 3

Ideals for irreducible component#ﬂ)f Xpar
I = (—2u® 4+ 2u” + 5u® — 2u” — 6uS — Tut + 14u® + u? + 4b — du + 2,
2ut? — ¥ — 5u® 4 4u® + u® 4+ 9u* — 9u® — u? + da + 4u — 6,
utt = 20t — w4 3u® + " — 208 4 4uS — 110t + 9uP —u? — 2u 4 2)

1Y =(—a®+b+2a—2,a°>—2d° +3a—1, u+1)

II={(a, b—1,v-1)

* 3 irreducible components of dim¢ = 0, with total 15 representations.

C2,Cs5, Cg

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I.
I = (—2u'®4-2u”+- - - +4b+2, 20'%°—u®+. - -+4a—6, v —2u0+. .. —2u+2)

(i) Arc colorings

o ()

1
a7 = 0
1
a8: _u2
(—§u10+}1u9+-~ —u+3
as = 1,10 __ 1,9 .. _ 1
2 U W o fu—3
u
ar = 3
5 u” +u
(—iu9+éu7+~-~—iu3+1
a; = 1,10 _ 1,9, . _ 1
! U U+t u— g
(o fut o
ag= \ 110 109 10
6 U u” + su—1
(iu8—§u6+~ c—su+t 3
az = 1,5° 1,3 1,9
3 SU U U+ u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u'® + 6u® + 2u” — 6ub — 4u® — Su* + 8u3 + 10u? — 8u + 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq utt = 2ut0 4+ 40® — 207 — 48 + 500 + 20t — 5t U +3u—1
C2,C3,C5 w2010 — 40 —8uB 4+ 6u” +8uf — T+ 2ut + T — 3 —u—1
Cq,C7 w20t — 0w — 30 + 0" + 208 4+ 4w + 11wt + 9w+ — 2u—2
Cs ut +4ut 4+ T+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce gt —dylf 411y —1
C2,C3,C5 yt =12y - =5y — 1
C4,C7 yt =6y 8y —4
cs Yyt 48y 6Ty — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.217339 + 1.1168601
a= 0.486755+ 0.1617931
b= 0.850023 — 0.6149301

3.20561 4 2.418921

4.92816 — 2.889471

uw = —0.217339 — 1.1168601
a= 0.486755 — 0.1617931
b= 0.850023 + 0.6149301

3.20561 — 2.418921

4.92816 + 2.889471

u= 1116820+ 0.4049511
a= 0.06010 — 1.676451
b= —0.978643 + 0.5957331

0.67123 4 4.697421

2.91876 — 5.883221

uw= 1.116820 — 0.4049511
a= 0.06010 + 1.676451
b= —0.978643 — 0.5957331

0.67123 — 4.697421

2.91876 + 5.883221

uw=0.323694 + 0.5835101
a= 0.505484 — 0.0586561
b= 0.952018 + 0.2265131

—1.73094 — 0.741961

—3.53927 + 1.119091

uw=0.323694 — 0.5835101
a= 0.505484 + 0.0586561
b= 0.952018 — 0.2265131

—1.73094 + 0.741961

—3.53927 — 1.119091

u= 1388234 0.367431
a= 0.423130 + 0.8422081
b= —0.523691 — 0.9480551

8.61577 4 2.584511

8.19194 — 1.016601

uw= 138823 —0.367431
a= 0.423130 — 0.8422081
b = —0.523691 + 0.9480551

8.61577 — 2.584511

8.19194 + 1.016601

u = —0.552641
a= 153210
b= —0.347303

1.12618

9.42940

u = —1.33508 + 0.612207
a = —0.241523 + 1.3629701
b= —1.126060 — 0.7113551

6.76952 — 8.651151

5.78570 + 5.578921




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —1.33508 — 0.612207
a = —0.241523 — 1.3629701
b= —1.126060 + 0.7113551

6.76952 4 8.651151

5.78570 — 5.578921




II. IY = (—a®?4+b+2a—2, a® —2a®°+3a—1, u+1)

(i) Arc colorings

o (%)

1
a7 = 0
1
ag = \ -1
a
az = \g?2—2a+2
-1
as = 0
a®—a+2
a1 = \a®—-2a+2
—a®+2a—2
aeg = —a?+a—2
a?—a+2
a3 = \ag?—2a+2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 U3—U+1
Cs5, Co
3
Cy, C7 (u - 1)
s w4+ 2 +u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y3_2y2+y_1
Cs5, Co
Cq, C7 (y—1)°
cs y? -2y — 3y —1




(vi) Complex Volumes and Cusp Shapes

Solutions to IY vV—1(vol +/—1CS) Cusp shape
u = —1.00000
a= 0.78492 4+ 1.307141 1.64493 6.00000
b= —0.662359 — 0.5622801
u = —1.00000
a= 0.78492 — 1.307141 1.64493 6.00000
b= —0.662359 + 0.5622801
u = —1.00000
a= 0.430160 1.64493 6.00000
b= 1.32472
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(i) Arc colorings

u- (o)

)
o ()
o )
o )
o ()
o (%)
o ()

(ii) Obstruction class =1

(iii) Cusp Shapes =0

III. I} = {a, b—1, v —1)
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C2,C3 u+1
Cy4,C7 U
Cs, C6, C8 u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Y — 1
Cs5,C6, Cs
C4,C7 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y/=1CS)

Cusp shape

v =

a =
b=

1.00000

1.00000
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
e (u+1)(u® —u+1)
(utt =200+ 4u® — 20" — 4ub + 5u® + 2ut — 5P+ u? + 3u— 1)
¢, ¢3 (u+1)(u® —u+1)
(w4 20 — 40 — 8u® 4 6u” + 8ub — Tu® + 2ut + Tud — 3u® —u —1)
cq, ¢ u(u —1)3
(20t —® = 3u® 208 4 4+ 1Tt U+ u? - 2u — 2)
cs (w=1)(u’ —u+1)
(420t — 4n® — 8u® 4 6u” + 8u® — Tu® + 2ut + Tud — 3u? —u—1)
co (w=1)(u’ —u+1)
(= 200+ 4u® — 20" — 48+ 5ud 4 20t — Bud +u? + 3u— 1)
8 (u—1)(u® +2u® +u+ 1) (™ + 40 + -+ 1w+ 1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o -0 -2 +y - D" =4y + -+ 11y —1)
Ca,C3,Cs (y—D* =22 +y— D" — 1290 4. =5y 1)
ca, e yly —1)°(y' — 6y + -+ 8y — 4)
cs (=D —20" =3y —)(y" +8y"° +--- +67y — 1)
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